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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ Ü¶Û¼Û×µÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé.  

 

1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁõ Ü¶Û¼Û×µÛ ÅÛ”ÛÛé : 

 (A) ½ÛÛÁõ©Û¾ÛÛ× Ü¶ÛýÛ×ÜªÛ©Û …é›÷¶ÍÛà…Ûé – ÍÛé¼Ûà, ¤ÖøÛˆ, ˆÁõ¦øÛ, ˆ.…ÛÁõ.ÍÛà. 

 (B) ½ÛÛÁõ©Û¾ÛÛ× ¼ÛÛÇ¾Û›æ÷Áõà 

 (C) ½ÛÛÁõ©Û¾ÛÛ× ÍÛ¾ÛÛ×©ÛÁõ …¬ÛÙ©Û×ªÛ  

 (D) ½ÛÛÁõ©Û¾ÛÛ× ÉÛÐéüÁõàïõÁõ¨Û …¶Ûé Í¬ÛÇÛ×©ÛÁõ  
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Instruction : All essays carry equal marks.  

 

1. Write any two essays from the following : 

 (A) Regulatory agencies in India – SEBI, TRAI, IRDA, ERC. 

 (B) Child Labour in India. 

 (C) Parallel Economy in India. 

 (D) Urbanization and Migration in India. 
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1. …¬ÛÙÜ¾ÛÜ©ÛÉÛÛÍªÛ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûä× ÍÈÛÄõ¸Û, ïõÛýÛÙ“ÛéªÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  14 

                        …¬ÛÈÛÛ 
 (…) χ2-(chi-square) ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë ›÷¨ÛÛÈÛÛé.  

 (¼Û) ¸ÛóïõÛÁõ-1 …¶Ûé ¸ÛóïõÛÁõ-2 ¶Ûà ½ÛæÅÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 

2. ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ …Û•Û¨Û¶Û ¸Û±ùÜ©Û¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛà, ËÛéÌ¥ø, ÍÛäÁéõ”Û …¶Ûé …¶ÛÜ½Û¶Û©Û 
…Û•Û¨ÛïõÛé(BLUE)¶ÛÛé ¾ÛÛªÛ ”ýÛÛÅÛ ›÷¨ÛÛÈÛÛé. 14 

                             …¬ÛÈÛÛ 
 (…) ¼ÛÐäü˜ÛÅÛàýÛ Ü¶Û¨ÛÛÙýÛïõ ÍÛÐüÍÛ×¼Û×µÛ (R2) ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 (¼Û) ÍÛ¾ÛÜÌ¤ø Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÜÈÛµÛéýÛ (PRF) …¶Ûé Ü¶ÛþùÉÛÙ Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÜÈÛµÛéýÛ (SRF) ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 

3. ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ¶Ûà ÍÛ¾ÛÍýÛÛ ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 14 

                     …¬ÛÈÛÛ 
 (…) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ¶Ûà ÍÛ¾ÛÍýÛÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 (¼Û) ªÛä¤øà¸Ûþù¶ÛÛ ÜÈÛÌÛ¾Û ÜÈÛ˜ÛÁõ¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 

4. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¼Û›ÛÁõ ¾ÛÛé¦éøÅÛ¶Ûà …Ü½ÛßÛéýÛ©ÛÛ ©Û¸ÛÛÍÛÛé : 14 

 D = a0 + a1P1 + a2P2 + a3y + a4t + u 

 S = b0 + b1P1 + b2P2 + b3c + b4t + w 

 D = S  

 šýÛÛ×, 
  D, S, P1 = …Û×©ÛÁõÜ¶Û¨Ûâ©Û ˜ÛÅÛ  

  P2, y, t, C = ¸ÛæÈÛÙÜ¶Û¨Ûâ©Û ˜ÛÅÛ 

  u, w = ªÛä¤øà ¸Ûþù  

                         …¬ÛÈÛÛ 
 (…) Ü³ù-Í©ÛÁõàýÛ ¶ýÛæ¶Û©Û¾Û ÈÛ•ÛÙ ¸Û±ùÜ©Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

 (¼Û) ýÛä•Û¸Û©Û ÍÛ¾ÛàïõÁõ¨Û ¾ÛÛé¦éøÅÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
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5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¼ÛÐäüÈÛíéïõÜÅ¸Ûï ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ”ÛÁõÛé (�) ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : (¸Ûó©ýÛéïõ¶ÛÛé 1 ¾ÛÛïÙÕõÍÛ) 14 

 (1) χ2-(chi-square) ÜÈÛ©ÛÁõ¨Û¶Ûä× ÍÛæªÛ 

  (a) 

n

Σ
i=1

 (oi - ei)
2

ei
  (b) 

–
x – µ

σ

n

  

  (c) 
S2

1

S2
2

   (d) 

–
x – µ

σ

n

 

(n – 1)s2

σ2

n – 1

  

 (2) ›Ûé …Û¸Û¨Ûà Ü¶ÛÁõÛïõÁõ¨ÛàýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ ÍÛÛ˜Ûà ÐüÛéýÛ …¶Ûé ©Ûé¶ÛÛé ÍÈÛàïõÛÁõ ïõÁõà…é ©ÛÛé ©Ûé – 

  (a) ¸ÛóïõÛÁõ-1 ¶Ûà ½ÛæÅÛ (b) ¸ÛóïõÛÁõ-2 ¶Ûà ½ÛæÅÛ 

  (c) ÍÛÛ˜ÛÛé Ü¶Û¨ÛÙýÛ (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ¶ÛÜÐü  

 (3) F-ÜÈÛ©ÛÁõ¨Û¶Ûä× ÍÛæªÛ 

  (a) 

n

Σ
i=1

 (oi – ei)
2

ei
  (b) 

–
x – µ

σ

n

  

  (c) 
S2

1

S2
2

   (d) 

–
x – µ

σ

n

 

(n – 1)s2

σ2

n – 1

  

 (4) šýÛÛÁéõ E(b') = b ÐüÛéýÛ, …é¤øÅÛé ïéõ …Û¸Û¨ÛÛé …Û•Û¨Ûïõ ______ ™öé. 

  (a) ËÛéÌ¥ø  (b) …¶ÛÜ½Û¶Û©Û 

  (c) Ü³ù–ÛÛ©Û  (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
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 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× Ü¶ÛþùÉÛÙ Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨Û ™öé ? 

  (a) y = b0 + b1x + ui (b) y = b '
0
  + b'

1
x + ei 

  (c) y' = b'
0
  + b'

1
x (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü  

 (6) Ü³ù˜ÛÅÛàýÛ Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛ ¾ÛÛé¦éøÅÛ¾ÛÛ× Ü¶Û¨ÛÛÙýÛïõ ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛé ÍÛ×ïéõ©Û – 

  (a) R2  (b) r2 

  (c) 
–
R2  (d) r 

 (7) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÉÛä× ›÷ÈÛÛ¼ÛþùÛÁõ ™öé ? 

  (a) …Û×©ÛÁõÜ¶Û¨Ûâ©Û ˜ÛÅÛÁõÛÜÉÛ ¸Ûþù (b) ¼ÛÛÔ Ü¶Û¨Ûâ©Û ˜ÛÅÛÁõÛÜÉÛ ¸Ûþù 

  (c) ªÛä¤øà¸Ûþù  (d) …˜ÛÅÛ ¸Ûþù  

 (8) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ …é¤øÅÛé – 

  (a) ¸ÛæÈÛÙ Ü¶Û¨Ûâ©Û ˜ÛÅÛÛé ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 

  (b) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ¶Ûà …ÍÛäÁéõ”Û©ÛÛ 

  (c) ªÛä¤øà ¸Ûþù¶Ûà •ÛéÁõÐüÛ›÷Áõà 

  (d) ¼Ûé ˜ÛÅÛÁõÛÉÛà ÈÛ˜˜Ûé ÍÛÐüÍÛ×¼Û×µÛ ¶Û ÐüÛéÈÛÛé 

 (9) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ µÛÛÁõ¨ÛÛ¶ÛÛé ½Û×•Û ¬ÛÛýÛ, ©ÛÛé ªÛä¤øà¸Ûþù¶ÛÛ ÜÈÛÌÛ¾Û ÜÈÛ˜ÛÁõ¨Û¶Ûà ÍÛ¾ÛÍýÛÛ Œ½Ûà ¬ÛÛýÛ ? 

  (a) E(u2) = σu
2  

  (b) Cov (ui uj) = 0 

  (c) y = f(x1, x2) ¾ÛÛ× x1 …¶Ûé x2 ÈÛ˜˜Ûé ÍÛ×¼Û×µÛ ¶Û¬Ûà 

  (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 

 (10) ¾ÛÛé¦éøÅÛ¶Ûà Áõ˜Û¶ÛÛ ¾ÛÛ¤éø¶Ûà ïõˆ ÍÛ¾ÛÍýÛÛ ™öé ? 

  (a) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ (b) …Ü½ÛßÛÛ¶Û 

  (c) ËÛé̈ Ûà•Û©Û ÍÛÐüÍÛ×¼Û×µÛ (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
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 (11) …éïõ ¾ÛÛé¦éøÅÛ¾ÛÛ×,  

  ÍÛ¾ÛàïõÁõ¨ÛÛé¶Ûà ÍÛ×”ýÛÛ (G) = 3 

  ¾ÛÛé¦éøÅÛ¾ÛÛ× ïäõÅÛ ˜ÛÅÛ¶Ûà ÍÛ×”ýÛÛ (K) = 7 

  ïõÛé̂  …éïõ ÍÛ¾ÛàïõÁõ¨Û¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛÛ ˜ÛÅÛ¶Ûà ÍÛ×”ýÛÛ (M) = 5 

  ÐüÛéýÛ, ©ÛÛé ïõ“ÛÛ¶Ûà ÉÛÁõ©Û ¸Ûó¾ÛÛ¨Ûé …Û¸ÛéÅÛä× ÍÛ¾ÛàïõÁõ¨Û ïéõÈÛä× ™öé ? 

  (a) ˜ÛÛé‘õÍÛ …Ü½ÛßÛéýÛ  (b) …Ü©Û …Ü½ÛßÛéýÛ 

  (c) …Å¸Û …Ü½ÛßÛéýÛ  (d) …Ü½ÛßÛéýÛ ¶Û¬Ûà 

 (12) …Ü½ÛßÛÛ¶Û ¾ÛÛ¤éø ïõ“ÛÛ¶Ûà ÉÛÁõ©Û – 

  (a) K – M ≠ G – 1 (b) K – M < G – 1  

  (c) K – M > G – 1 (d) Š¸ÛÁõ¶Ûà …éïéõýÛ ¶ÛÜÐü 

 (13) …×©ÛÁõÛÅÛ …Û•Û¨Û¶Û¾ÛÛ× ¸Ûó¾ÛÛÜ¨Û©Û ¸Ûó¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û ÈÛ’õ ¶Ûà˜Ûé¶ÛÛ (ÍÛ×½ÛÛÈÛ¶ÛÛ) ¸ÛóþéùÉÛ¶Ûä× ïäõÅÛ ¾ÛÛ¸Û – 

  (a) > 1  (b) < 1 

  (c) = 1  (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 

 (14) ÍÛÛ¸Ûé“Û ˜ÛÅÛ¶Ûà ïõÛé̂  …éïõ ïéõ …¶Ûéïõ Ü¶ÛÁõ¸Ûé“Û ˜ÛÅÛ ¸ÛÁõ¶Ûà Ü¶Û½ÛÙÁõ©ÛÛ¶Ûä× ÜÈÛÊÅÛéÌÛ¨Û …é¤øÅÛé –  

  (a) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ (b) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛ¾ÛÁéõ”Û©ÛÛ 

  (c) …Ü½ÛßÛÛ¶Û (d) Š¸ÛÁõ¶Ûä× …éïõ¸Û¨Û ¶ÛÜÐü 

____________ 
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1. What is Econometrics ? Explain its nature, scope and limitations.  14 

                                              OR 

 (a) State the properties of χ2-(chi-square) distribution.  

 (b) Write short note on Type-I and Type-II error. 

 

2. State the assumptions of least square estimators and state only concept of Best, Linear 

& Unbiased estimators.  14 

                                                     OR 

 (a) Write short note on Multiple Regression (R2). 

 (b) Write short note on Population Regression Function (PRF) and Sample 

Regression function (SRF). 

 

3. Discuss about the problem of Autocorrelation. 14 

                                          OR 

 (a) Write short note on multicollinearity problem.  

 (b) Write short note on Hetroscedasticity of error term.  

 

4. Test the identification of the following market model : 14 

 D = a0 + a1P1 + a2P2 + a3y + a4t + u 

 S = b0 + b1P1 + b2P2 + b3c + b4t + w 

 D = S  

 where, 

  D, S, P1 = Endogenous variables   

  P2, y, t, C = Exogeneous variables 

  u, w = error term  

                                                 OR 

 (a) Write short note on two-stage least square method. 

 (b) Write short note on simultaneous equation model. 
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5. Write correct answer of the multiple choice question given below : (Each of 1 marks) 14 

 (1) The formula of χ2-(chi-square) distribution is  

  (a) 

n

Σ
i=1

 (oi – ei)
2

ei
  (b) 

–
x – µ

σ

n

  

  (c) 
S2

1

S2
2

   (d) 

–
x – µ

σ

n

 

(n – 1)s2

σ2

n – 1

  

 (2) If our Null-Hypothesis is true and we accept it, then it is 

  (a) Type-I error (b) Type-II error 

  (c) True decision (d) None of the above 

 (3) The formula of F-distribution is 

  (a) 

n

Σ
i=1

 (oi – ei)
2

ei
  (b) 

–
x – µ

σ

n

  

  (c) 
S2

1

S2
2

   (d) 

–
x – µ

σ

n

 

(n – 1)s2

σ2

n – 1

  

 (4) When E(b') = b, means our estimator is ______. 

  (a) best  (b) unbiased 

  (c) quadratic (d) None of the above 
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 (5) Which of the following is the sample Regression equation ? 

  (a) y = b0 + b1x + ui (b) y = b'0 + b'1 x + ei 

  (c) y' = b'0 + b'1 x (d) None of the above  

 (6) The symbol of coefficient of determination for two variable regression model is 

  (a) R2  (b) r2 

  (c) 
–
R2  (d) r 

 (7) What is responsible for Auto correlation problem ? 

  (a) Endogeneous variable term (b) Exogeneous variable term 

  (c) Error term (d) Constant term 

 (8) Multicollinearity means  

  (a) the relation between exogeneous variables  

  (b) Non-linearity of regression 

  (c) Absence of error term 

  (d) No correlation between two variables  

 (9) Violation of which of the following assumption creates the problem of 

Hetroscedasticity of error term ? 

  (a) E(u2) = σu
2  

  (b) Cov (ui uj) = 0 

  (c) No relation between x1 and x2 in y = f(x1, x2) 

  (d) None of the above  

 (10) Which is the problem for construction of the model ? 

  (a) Multicollinearity  (b) Identification 

  (c) Auto correlation (d) None of the above 
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 (11) In a model,  

  The numbers of equations (G) = 3 

  The numbers of total variables in model (K) = 7 

  The numbers of variables in any one equation (M) = 5 

  then, what type of given equation, according to order condition ? 

  (a) Exact Identify (b) Over identify 

  (c) Under identify (d) No identify  

 (12) The order condition for identification is 

  (a) K – M ≠ G – 1 (b) K – M < G – 1  

  (c) K – M > G – 1 (d) None of the above 

 (13) The total (probability) measurement of the area under the standard normal 

distribution curve in interval estimation is 

  (a) > 1  (b) < 1 

  (c) = 1  (d) None of the above  

 (14) The analysis of dependability of dependent variable on one or more independent 

variables means  

  (a) Regression (b) Multicollinearity 

  (c) Identification (d) None of the above  
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1. (a) •ÛÛ×µÛàÈÛÛþùà …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.   6 

                  …¬ÛÈÛÛ 

  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û ¼Ûé …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõïõÛé¶ÛÛ ÜÈÛ˜ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé : 

  ïõÛíéÜ¤øÅýÛ, ÜÈÛ¶ÛÛé¼ÛÛ ½ÛÛÈÛé, ÁõÛ¾Û ¾Û¶ÛÛéÐüÁõ ÅÛÛéÐüàýÛÛ 

 (b) •ÛÛ×µÛàÈÛÛþùà ¤ÖøÍ¤øàÜÉÛ¸Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶ÛÛ ¾ÛÐü«ÈÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 4 

                  …¬ÛÈÛÛ 

  ¾ÛÐüÛ½ÛÛÁõ©Û¶ÛÛ ÉÛÛ×Ü©Û¸ÛÈÛÙ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

 (c) •ÛÛ×µÛàÈÛÛþùà …ÛÜ¬ÛÙïõ ÜÈÛïéõ¶®ùàïõÁõ¨Û¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 4 

                  …¬ÛÈÛÛ 

  ›÷ýÛ ¸ÛóïõÛÉÛ ¶ÛÛÁõÛýÛ¨Û¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  

 

2. (a) …é¦ø¾Û ÜÍ¾Û¬Û¶ÛÛ ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé. 6 

                  …¬ÛÈÛÛ 

  ¾ÛÛÅ¬ÛÍÛ¶ÛÛ ÈÛÍ©Ûà¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé.  

 (b) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë¶ÛÛ ËÛ¾Û ¾ÛæÅýÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé.  4 

                  …¬ÛÈÛÛ 

  ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë¶ÛÛ ½ÛÛ¦øÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ Áõà©Ûé ˜Û˜ÛÛë ïõÁõÛé. 
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 (c) ¸ÅÛé¤øÛé¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.   4 

                  …¬ÛÈÛÛ 

  ›÷é.¼Ûà. ÍÛé¶ÛÛé ¼Û›ÛÁõ¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé. 

 

3. (a) ïéõˆ¶ÍÛ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõµÛÛÁõÛ¶ÛÛ× ÅÛ“Û¨ÛÛé ›÷̈ ÛÛÈÛÛé.  6 

                  …¬ÛÈÛÛ 

  ïéõˆ¶ÍÛ¶ÛÛ ¸Ûæ̈ ÛÙ ÁõÛé›÷•ÛÛÁõà¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ Áõà©Ûé ˜Û˜ÛÛë ïõÁõÛé. 

 (b) ïéõˆ¶ÍÛ¶ÛÛ •Ûä̈ Ûïõ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛÙ ïõÁõÛé.  4 

                  …¬ÛÈÛÛ 

  ÍÛà¾ÛÛ×©ÛÈÛÛþùà …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 (c) …ÛéÜÍ¤ÖøýÛ¶Û ÜÈÛ˜ÛÛÁõïõÛé¶Ûà …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  4 

                  …¬ÛÈÛÛ 

  ïéõˆ¶ÍÛ¶ÛÛ ÈÛ¸ÛÁõÛÉÛ Ü¶ÛýÛ¾Û¶Ûà ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛÙ ïõÁõÛé.  

 

4. (a) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ …ÜµÛÉÛéÌÛ ¾ÛæÅýÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ Áõà©Ûé ˜Û˜ÛÛë ïõÁõÛé.  6 

                  …¬ÛÈÛÛ 

  ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ ¾ÛæÅýÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 (b) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛé ÈÛ•ÛÙÜÈÛ•ÛóÐü ÜÍÛ±ùÛ×©Û ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë.   4 

                  …¬ÛÈÛÛ 

  ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë.  

 (c) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛé …¬ÛÙÉÛÛÍªÛ¾ÛÛ× ýÛÛé•ÛþùÛ¶Û ¤æ×øïõ¾ÛÛ× ›÷̈ ÛÛÈÛÛé. 4 

                  …¬ÛÈÛÛ 

  ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ…Ûé ÅÛ”ÛÛé. 
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5. (a) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé :   1 ×××× 7 

  (1) ïõÛíéÜ¤øÅýÛ¶ÛÛ ¼Ûé …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé ÅÛ”ÛÛé. 

  (2) …é¦ø¾Û ÜÍ¾Û¬Û¶ÛÛ ¸ÛäÍ©Ûïõ¶Ûä× ¶ÛÛ¾Û ›÷¨ÛÛÈÛÛé.  

  (3) ¾ÛÛÅ¬ÛÍÛ¶ÛÛ ¸ÛäÍ©Ûïõ¶Ûä× ¶ÛÛ¾Û ›÷̈ ÛÛÈÛÛé.  

  (4) MPC, APC ¶ÛÛ ÍÛæªÛ ›÷̈ ÛÛÈÛÛé. 

  (5) ¼Ûé …ÛéÜÍ¤ÖøýÛ¶Û ÜÈÛ˜ÛÛÁõïõÛé¶ÛÛ ¶ÛÛ¾Û ›÷¨ÛÛÈÛÛé.  

  (6) ïõÛÅÛÙ ¾ÛÛîÍÛÙ¶ÛÛ ¸ÛäÍ©Ûïõ¶ÛÛ× ¶ÛÛ¾Û ›÷̈ ÛÛÈÛÛé.  

  (7) …¬ÛÙÉÛÛÍªÛ¶ÛÛé Ü¸Û©ÛÛ ïõÛé¶Ûé •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

 (b) ›Ûé¦øïõÛ× ›Ûé¦øÛé :   1 ×××× 7 

  (1) ©ÛºõÛÈÛ©Ûà ½ÛÛ¦ä×ø (A) ›÷ýÛ ¸ÛóïõÛÉÛ ¶ÛÛÁõÛýÛ¨Û 

  (2) ïõÛÅÛÙ ¾Ûê›÷Áõ (B) ›÷é.¼Ûà. ÍÛé 

  (3) ›÷é.…éÍÛ. Ü¾ÛÅÛ (C) ½ÛæþùÛ¶Û …Û×þùÛéÅÛ¶Û 

  (4) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë (D) ÍÛà¾ÛÛÈÛ©Ûâ Š¸ÛýÛÛéÜ•Û©ÛÛ 

  (5) ÜÈÛ¶ÛÛé¼ÛÛ ½ÛÛÈÛé (E) ¸ÛÛÁõÍ¸ÛÜÁõïõ ¾ÛÛ×•Û¶ÛÛé ÜÍÛ±ùÛ×©Û 

  (6) Treatise on Political Economy (F) ©ÛäÅÛ¶ÛÛ©¾Ûïõ ”Û˜ÛÙ¶ÛÛé ÜÍÛ±ùÛ×©Û 

  (7) ÍÛÈÛÛëþùýÛ (G) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë 
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1. (a) Explain Gandhian economic thoughts.   6 

                  OR 

  Explain economic ideas of the following any two economists : 

  (Kautilya, Vinoba Bhave, Ram Manohar Lohia) 

 (b) Discuss importance of Trusteeship Theory with reference to Gandhi’s ideology. 4 

                          OR 

  Discuss Shanti Parva of Mahabharat. 

 (c) Discuss the economic decentralization theory with reference to Gandhi’s ideology. 4 

OR 

  Write short note on Jay Prakash Narayan’s Economic Thought.  

 

2. (a) Critically evaluate Adam Smith’s theory of “Division of Labour”. 6 

                    OR 

  Critically evaluate Malthusian Theory of “Population”. 

 (b) Critically evaluate Ricardian Value Theory of “Labour”. 4 

                     OR 

  Critically evaluate Ricardian Theory of “Rent”. 
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 (c) Write short note on Plato’s Economic Thoughts. 4 

                  OR 

  Write J.B. Say’s Law of Market.  

 

3. (a) Discuss main features of Keynesian Economics. 6 

                    OR 

  Critically evaluate Keynesian Theory of Full Employment. 

 (b) Write short note on concept of Keynesian Multiplier. 4 

                OR 

  Discuss main Marginalism economic thoughts.  

 (c) Discuss main economic thoughts of Austrian Thinker. 4 

                        OR 

  Write short note on consumption theory of Keynes.  

 

4. (a) Critically evaluate Karl Marx’s Theory of Surplus Value. 6 

                OR 

  Discuss Karl Marx “Labour Theory of Value”. 

 (b) Write short note on Marx Theory of “Class War”. 4 

                                                   OR 

  Write short note on Karl Marx’s Theory development. 

 (c) Write short note on Karl Marx contribution in Economics. 4 

                       OR 

  Write down the criticism of Karl Marx development theory. 
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5. (a) Answer in short :   1 ×××× 7 

  (1) Write down any two economic ideas of Kautilya. 

  (2) Write down the name of Adam Smith’s book. 

  (3) Write down the name of Malthus’s book. 

  (4) Write down the formula of APC and MPC. 

  (5) Write down the name of any two Austrian thinkers. 

  (6) Write down the name of Karl Marx’s book. 

  (7) Who is known to be the father of Economics ? 

 (b) Match the following :   1 ×××× 7 

  (1) Differential rent (A) Jay Prakash Narayan 

  (2) Karl Menzer (B) J.B. Say 

  (3) J.S. Mill (C) Bhoodan Aandolan 

  (4) David Ricardo (D) Marginal utility 

  (5) Vinoba Bhave (E) Theory of Reciprocal Demand  

  (6) Treatise on Political Economy (F) Theory of Comparative Cost 

  (7) Sarvodaya (G) David Ricardo 

    

 

  

 

 


